1+ TRICO L,

Electric Cooperative, Inc.

A Touchstone Energy® Cooperative

IRIGINAL

April 24,2012

Docket Control

Arizona Corparation Commission
1200 West Washington:Street
Phoeriix, Arizona 85007

Re: Decision No. 70567, Docket No. RE-00000A-07-0608

2012 Net Metering Compliance Report

Pursuant to A.A.C. R14-2-2308, prior to May 1 of each year, each Electric Utility shall file a'report:

1.. Listing all existing Net Metering Facilities and the inverter power rating or generator rating
as-of the end of the previous calendar year;

2. Foreach existing Net Metering Facility, the monthly amount of éngrgy delivered to

{“Generated”) and from (“Consumed”} the Electric Utility and, if available, the monthly peak
demand delivered-to and from the Electric Utility.

Decision No. 71462 (January 26, 2010) approved Trico Electric Cooperative Inc.’s (“Trico”) Net Metering
Tariff. Please find enclosed an original and thirteen copies-of Trico’s 2012 Net Metering Compliance
Report for the period January 2011 through December 2011. Trico’s 2012 Net Metering Compliance
Report does not include the monthly peak demand delivered to and from the Electric Utility, as this
information is not readily available for Trico’s Member/Customers participating in its Net Metering
Tariff.

Please contact me if you have any guestions.
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